

## New Proofs of Some Discrete Inequalities of Wirtinger's type

I. Ž. Milovanović, E. I. Milovanović, D. Ć. Dolićanin, T. Z. Mirković

**Abstract:** A new approach in proving some well known inequalities of Wirtinger's type is presented in this paper. Proofs are short, elegant and based on one class of inequalities for real numbers

**Keywords:** Discrete inequalities, Wirtinger inequality.

### 1 Introduction

Let  $x_0, x_1, \dots, \alpha_1, \alpha_2, \dots$  and  $\beta_1, \beta_2, \dots$  are positive real numbers, whereby  $\alpha_k \cdot \beta_k > 0$ , for each  $k \in N$ . A classic inequality (for these numbers )

$$\left( \sqrt{\frac{\alpha_k}{\beta_k}} x_k \pm \sqrt{\frac{\beta_k}{\alpha_k}} x_{k-1} \right)^2 \geq 0 \quad (1)$$

holds for these numbers if and only if

$$\alpha_k x_k \pm \beta_k x_{k-1} = 0. \quad (2)$$

We will show that by appropriate choice of real numbers  $x_k, \alpha_k$  and  $\beta_k$  in accordance with inequality (1), some discrete inequalities of Wirtinger's, i.e. Opial's type can be derived (see for example [7]). Let us note that these inequalities play an important role in many scientific and technical areas, such as Theory of differential and difference equations [1], Matrix theory [2], Geometry [10], etc.

---

Manuscript received xx, 2012; accepted xxx.

I. Ž. Milovanović and E. I. Milovanović are with the Faculty of Electronic Engineering, Niš, Serbia; D. Ć. Dolićanin and T. Z. Mirković are with the State University of Novi Pazar, Novi Pazar, Serbia.

## 2 Main result

Case a)

Let  $x_0, x_1, \dots, x_{n+1}$  are arbitrary real numbers with property  $x_0 = x_{n+1} = 0$ . Having in mind inequality (1) we have that

$$-\sum_{k=1}^n \left( \frac{\alpha_k}{\beta_k} + \frac{\beta_{k+1}}{\alpha_{k+1}} \right) x_k^2 \leq 2 \sum_{k=1}^{n-1} x_k x_{k+1} \leq \sum_{k=1}^n \left( \frac{\alpha_k}{\beta_k} + \frac{\beta_{k+1}}{\alpha_{k+1}} \right) x_k^2.$$

If we substitute  $\alpha_k$  and  $\beta_k$  in the above inequality with  $\alpha_k = \sin(k-1)t$  and  $\beta_k = \sin kt$ , it becomes

$$-\cos t \sum_{k=1}^n x_k^2 \leq \sum_{k=1}^{n-1} x_k x_{k+1} \leq \cos t \sum_{k=1}^n x_k^2. \quad (3)$$

Since for each  $k, k \in N$ , must be  $\alpha_k \beta_k > 0$ , parameter  $t$  has to satisfy the inequality  $0 < t < \frac{\pi}{n}$ . Therefore we can take  $t = \frac{\pi}{n+1}$ . Now, inequality (3) becomes

$$-\cos \frac{\pi}{n+1} \sum_{k=1}^n x_k^2 \leq \sum_{k=1}^{n-1} x_k x_{k+1} \leq \cos \frac{\pi}{n+1} \sum_{k=1}^n x_k^2, \quad (4)$$

Equality on the left (right) side of inequality (4) holds if and only if  $x_k = C \cdot (-1)^{k-1} \sin \frac{k\pi}{n+1}$ , ( $x_k = C \cdot \sin \frac{k\pi}{n+1}$ ), for  $k = 1, 2, \dots, n$  while  $C > 0$  is an arbitrary constant.

Inequality (4) is discrete inequality of Opial's type and was proved in [7]. Left side of inequality (4) in a form of discrete inequality of Wirtinger's type was proved in [6], and right side in [4]. Let us note that proof of inequality (4) given in this proposal is simpler than those given in [4, 6, 7].

Case b)

Let  $x_0, x_1, \dots, x_n$  are arbitrary real numbers with property  $x_0 = 0$ . Then, according to (1) we have that

$$2 \sum_{k=1}^{n-1} x_k x_{k+1} \geq - \sum_{k=1}^n \left( \frac{\alpha_k}{\beta_k} + \frac{\beta_{k+1}}{\alpha_{k+1}} \right) x_k^2 + \frac{\beta_{n+1}}{\alpha_{n+1}} x_n^2, \quad (5)$$

and

$$2 \sum_{k=1}^{n-1} x_k x_{k+1} \leq \sum_{k=1}^n \left( \frac{\alpha_k}{\beta_k} + \frac{\beta_{k+1}}{\alpha_{k+1}} \right) x_k^2 - \frac{\beta_{n+1}}{\alpha_{n+1}} x_n^2. \quad (6)$$

If in inequality (5)  $\alpha_k$  and  $\beta_k$  are substituted by  $\alpha_k = \sin(2k-2)t$  and  $\beta_k = \sin 2kt$ , then it becomes

$$2 \sum_{k=1}^{n-1} x_k x_{k+1} \geq -2 \cos 2t \sum_{k=1}^n x_k^2 - x_n^2.$$

Since parameter  $t$  has to satisfy  $0 < t < \frac{\pi}{2n}$ , we take  $t = \frac{\pi}{2n+1}$ . Now, the above inequality becomes

$$2 \sum_{k=1}^{n-1} x_k x_{k+1} \geq -2 \cos \frac{2\pi}{2n+1} \sum_{k=1}^n x_k^2 - x_n^2.$$

i.e.

$$\sum_{k=1}^n (x_{k-1} - x_k)^2 \leq 2 \left( 1 + \cos \frac{2\pi}{2n+1} \right) \sum_{k=1}^n x_k^2. \quad (7)$$

Equality in (7) holds if and only if  $x_k = C \cdot (-1)^{k-1} \sin \frac{2k\pi}{2n+1}$ ,  $k = 1, 2, \dots, n$  where  $C > 0$  is an arbitrary constant. The inequality (7) was proved in [6] (see also [15]).

If in inequality (6) we take  $\alpha_k = \cos(k-1)t$  and  $\beta_k = \cos kt$ , it becomes

$$2 \sum_{k=1}^{n-1} x_k x_{k+1} \leq 2 \cos t \sum_{k=1}^n x_k^2 + x_n^2.$$

Since parameter  $t$  has to satisfy  $0 < t < \frac{\pi}{2n}$ , we take  $t = \frac{\pi}{2n+1}$ . Now, the above inequality becomes

$$2 \sum_{k=1}^{n-1} x_k x_{k+1} \leq 2 \cos \frac{\pi}{2n+1} \sum_{k=1}^n x_k^2 + x_n^2.$$

i.e.

$$\sum_{k=1}^n (x_k - x_{k-1})^2 \geq 2 \left( 1 - \cos \frac{\pi}{2n+1} \right) \sum_{k=1}^n x_k^2. \quad (8)$$

Equality in inequality (8) holds if and only if  $x_k = C \cdot \sin \frac{k\pi}{2n+1}$ ,  $k = 1, 2, \dots, n$  where  $C > 0$  is an arbitrary constant.

Inequality (8) was proved in [4]) in a more complicated manner.

*Case c)*

Let  $x_0, x_1, \dots, x_n$  are arbitrary real numbers with property  $x_0 = x_n = 0$ . Then, according to (1) we have that

$$\sum_{k=1}^n \left( \frac{\alpha_k}{\beta_k} x_k^2 + \frac{\beta_k}{\alpha_k} x_{k-1}^2 \right) \geq 2 \sum_{k=1}^n x_k x_{k-1}.$$

If we replace  $\alpha_k$  and  $\beta_k$  with  $\alpha_k = \sin kt$  and  $\beta_k = \sin(k+1)t$ , the above inequality becomes

$$2 \cos t \sum_{k=1}^n x_k^2 + \left( \frac{\sin 2t}{\sin t} - \frac{\sin(n+2)t}{(n+1)t} \right) x_0^2 \geq 2 \sum_{k=1}^n x_k x_{k-1}. \quad (9)$$

By imposing the condition

$$\frac{\sin 2t}{\sin t} - \frac{\sin(n+2)t}{\sin(n+1)t} = 0,$$

we obtain that  $t = \frac{\pi}{n}$ . Now inequality (9) becomes

$$\cos \frac{\pi}{n} \sum_{k=1}^n x_k^2 \geq \sum_{k=1}^n x_k x_{k-1} \quad (10)$$

The inequality (10) has application in geometry, i.e. with convex polygons (see for example [3, 5, 9, 11, 12, 13, 14]). Namely if in (10) we perform the following substitutions with  $x_k := x_k \cos \sigma_k$  and  $x_k := x_k \sin \sigma_k$ ,  $\sigma_0 = \sigma_n$ , and then sum up the obtained inequalities, we obtain

$$\cos \frac{\pi}{n} \sum_{k=1}^n x_k^2 \geq \sum_{k=1}^n x_k x_{k-1} \cos(\sigma_k - \sigma_{k-1}).$$

After performing substitutions  $\sigma_k - \sigma_{k-1} = \gamma_{k-1}$ , for  $k = 1, 2, \dots, n-1$ , and  $\sigma_n - \sigma_{n-1} = \gamma_{n-1} - \pi$ , the above inequality transforms into

$$\cos \frac{\pi}{n} \sum_{k=1}^n x_k^2 \geq \sum_{k=1}^n x_k x_{k-1} \cos \gamma_{k-1}, \quad (11)$$

where  $\gamma_0 + \gamma_1 + \dots + \gamma_{n-1} = \pi$ . The inequality (11) has been proved in [11].

## References

- [1] R. P. AGARWAL, *Difference equations and inequalities: Theory, methods and applications*, Marcel Dekker, New-York -Basel -Hong Kong, 2000.
- [2] R. BELLMAN, *Introduction to matrix analysis*, Mc Graw - Hill Book Company, Inc., New York -Toronto -London, 1960.
- [3] P. ERDÖS, *Problem 3740*, Amer. Math. Montly, 42 (1935), 396.
- [4] K. FAN, O. TAUSKY, J. TODD, *Discrete analogs of inequalities of Wirtinger*, Monatsh. Math., Vol 53, (1955), 73-90.
- [5] H. C. LENHARD, *Verallgemeinerung und Verhärfung der Erdös - Mordellshen Ungleichung für polygone*, Arch. Math., 12 (1961), 311-314.
- [6] G. V. MILOVANOVIĆ, I. Ž. MILOVANOVIĆ, *On discrete inequalities of Wirtinger's type*, J. Math. Anal. Appl., Vol. 88, ?? (1982), 378-387.
- [7] G. V. MILOVANOVIĆ, I. Ž. MILOVANOVIĆ, *Some discrete inequality of Opial's type*, Acta Sci. Math. (Szeged), 47 (1984), 413-417.
- [8] G. V. MILOVANOVIĆ, I. Ž. MILOVANOVIĆ, *Disrete inequalities of Wirtinger's type*, Recent Progress in Inequalities, A Volume dedicated to Profesor D. S. Mitrinović (1908-1995), (G. V. Milovanović, ed.) Kluwer, Dordrecht, 1978, 289-308.
- [9] D. S. MITRINOVIĆ, J. E. PEČARIĆ, A. M. FUNK, *Classical and new inequalities in analysis*, Kluwer Academic Publications, Dordrecht, 1993.
- [10] D. S. MITRINOVIĆ, J. E. PEČARIĆ, V. VOLENEC, *Recent advances in geometric inequalities*, Kluwer Academic Publishers, Dordrecht, 1989.

- [11] L. J. MORDELL, D. F. BARROW, *Solution of problem 370*, Amer. Math. Monthly, 44 (1937), 252-254.
- [12] N. OZEKI, *On P. Erdős inequality for the triangle*, J. College Arts Sci. Chiba Univ., 2 (1957), 247-250.
- [13] J. WOLSTENHOLME, *A book of mathematical problems*, Cambridge, London, 1867.
- [14] S. WU, L. DEBNATH, *Generalization of the Wolstenholme cyclic inequality and its application*, Comput. Math. Appl., Vol. 53, 1 (2007), 104-114.
- [15] Z. -G. XIAO, Z. -H. ZHANG, *A simple new proof of Fan-Taussky-Todd inequalities*, Australian J. Math. Anal. Appl., Vol. 2, 1 (2005), 1-5.